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The function § is defined by f{x] = I_L“ What potats (x, ¥} on the graph of [ have the property that the
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Let fix}={2x+1)" andlet g be the inverse function of £ Given that £(0} = I, what is the value of 3t
Y= (2x+)?
X= (2y+1)

3K ’LUH

9 =3 ?(

(A} —= | {Ey 6

Uq = m /3 -l

A. sinx B. x c L @

lim 200 =P 7] e

4 y-g Ok Y= 0=
C. -%5— D. -1

Po=sing - 0="h
£00) = (08X

Th)=s(Mh) = [




YQ’(\ N Og\\\lt

The equatlon of the normal line to the graph of y= e when(): 2is.. ‘)Q\\(\% on 0Oy m&\ -
2 ) = p-0)

I f(x)= 50052(7;: X), thenf(;) is .

R - sleslon] o)
: ° B = 1o Ceos ‘-0 (=sinm-y) (D) $
| 1o Cess =] T~ ) |

2 5= -0 coskm -5V Con(m-7) )
T = (01 )-

- | For what value(s) of k does the graph of g(x) = ke + 3x have a normal line whose slopg

x=17 9'0)= Kﬂu@’r@ 5\ocof+a nf=
: CTRRCC I

'Zlim =

| If f'(x)= tan(2x), then f°

A, 2\[3-




The graph of #/= ™% —
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Given that f{x) = x°¢*, what is an approximate value of f{1.1) if you use the equation of the tangent
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Let f'be the function given by f(x) = 3¢%* and let £ be the function given by g(x) = 6x°. At what

value of x do the graphs of fand g have{parallel tangen@
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FREE RESPONSE #1

Consider the piece-wise defined function below to answer the questions that follow.

2
ax” +bx+2, x<2
f(X)={

ax+b, x>2

a. Ifa=-3 and b =4, will f{x) be continuous at x =27 Justify your answer.
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b. Ifa=-3 and b = 4, will f{x) be differentiable at x = 2? Justify your answer.
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c. For what value(s) of a and b will f{x) be botl{continuous apddifferentiablg.dt x = 2? Show




FREE RESPONSE #2 Cmu’ AGYNQ- |

A rodeo performer spins a lasso in a circle perpendicular to the ground. The heighffrom the
ground of the knot, measured in units 0 in the lasso is modeled by the function '

H{) :—3608(57”t)+ 5,

where £ is theasured ier the lasso begins to spin.

a. Find the value of H(0.75). Using correct units, explain what this value represents in the
context of this problem.

H(0.19)= ’%COS( 7S>)+ = [.12
0,15 secovas 0fder ¥re 108So ‘eginS o PN, At \nfﬂqw
ok ¥re wok fom Ane ground \S LA feedt,

b. Find the value of #'(0.75). Using correct units, explain what this value represents in the
context of this problem. d
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d. During the first five seconds of the performer spinning the lasso, how many times is the lasso
at its maximum height? Give a reason for your answer based on the graph of 17'(¢).
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e. What is the height of the lasso th¢first time It is at its minimum heighbon the interval

0 <t <5 seconds? Justify your ansWer and show your work. ' ’
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